STHB3FEERGBEARASEIL 7 A Y 7 KRk
SBABRIRILESEEARR

R U Y THRRRETER

Ay

i (i = SM3FETAIR (&) ~118 (H)
A S-S IIpA NI W77 IVU—FR7iL
(EEsE) KA
REBTF TR BER =F 8
RELZ T TR BER =F8
DEFF =aF B LR =R
DELZF = IR =aF R FHRE
(B ZHERIE)
IRva 2131 31z
aF B FHRE BEE




SH3FEERFERRZERILT A Y J KREHE
BASERILBEEBE RNV U > IEi
WERRIEMR - TR—EX

B % 5 ¥

2 % F & B 2 F B g5 W =R woB R B B R (I
w2 A 3 fI| 180 =| 4 | 150 =| 7 fI| 60 =<| 10 fz| 00 =| 1 fI| 240 =| 8 fI| 30 =
w2 A 6 fz| 90&| 5 fI| 120=K| 9 4| 00 g&| 12 fz| 00 &= 2 M| 21.0 K| 11 fz| 0.0 =
w4 A 1 fr] 240 &=| 2 fz| 21.0 x| 5 4| 120%] 6 fz| 90 = 4 4| 150 =| 3 fir| 18.0 &=
fa A1 2 fz| 70&=| 1 fz| 80 &| 4 fr| 50 =] 11 f1| 00 g&| 16 fz| 00 =| 5 Mz 40 =%
fa A 2 3 fI| 60~ 8 fI| 10=| 6 fI| 30=| 15 fI| 00 =| 20 fz| 00 =| 9 fI| 00 =
a2 A 3 7 fI| 20~ 10 fI| 00 =| 14 fz| 00 =| 19 fI| 00 =| 21 fI| 00 =| 12 fI| 00 =
B A 4 13 4zl 00 = 17 fz| 0.0 =| 23 4z 0.0 m=| 24 fz| 0.0 =| 22 fz| 0.0 = 18 fr| 0.0 =

H 1 fir]| 66.0 = 3 fz| 57.0 x| 4 41| 260 =] 6 fr| 90 = 2 fz| 60.0=| 5 fir| 25.0 =
B % % ¥

] & F AR B 2 F R =2 B R woBH R B B B (I
2 A 3 fz| 180 &| 1 AfI| 240 & 5 M| 120 = 6 Az 9.0=| 2 fr| 21.0 &| 8 fu| 3.0=
w2 A 4 fr| 15.0 /| 12 41| 00 &| 9 fz| 0.0 & 10 fz| 00 &=| 7 fr| 6.0 &| 11 fz| 0.0 =
4 A 3 fz| 180 &| 5 Afr| 120 & 2 fuz| 210 & 4 fr| 150 =] 1 fir| 240 &| 6 fz| 9.0 =
fa A1 4 fr| 50&| 2 fr| 70&| 1 fz| 80 = fir| 00 &=| 5 fr| 40 & 11 fz| 00 =
B A 2 8 fu| 10&| 3 41| 60&| 6 fz| 3.0&=| 15 fz| 00 =| 7 fr| 20 &| 16 fz| 0.0 =
@\ A 3 10 fz| 0.0 & 12 4r| 00 =| 12 fz| 0.0 &| 17 fz| 0.0 =| 14 fz| 00 &| 20 fz| 0.0 =
®\ A 4 13 fz| 0.0 &| 23 f4r| 00 &=| 18 fzr| 0.0 &| 22 fz| 0.0 =| 19 fr| 00 &| 24 fz| 0.0 =

B 1 fir]| 57.0 &| 3 fz| 49.0 =| 4 4| 440 5| 5 fuz| 240 = 2 fz| 57.0 x| 6 fir| 12.0 =
11,047 11,025

%N 6 1z 9.0 & 1 1] 240 5| 3 f1| 180 & 5 fz| 120 & 4 {1 15.0 H 2 fi| 21.0 &
®m A 1 5 fi 4.0 & 1 fI 8.0 & 2 fi 7.0 = 6 fiI 3.0 & 7 I 2.0 = 3 i 6.0 =
®m A 2 9 fiI 0.0 & 10 1 0.0 & 8 fi 1.0 5| 12 fiI 0.0 &| 11 1 00 5 4 fI 5.0 &=
5 6 fz| 13.0 & 1 f1] 320 5| 3 fi1| 260 5 5 fz| 150 & 4 1| 17.0 5 2 fi| 320 &
4,775 4,556
» £ & F
2 % F A B FE F B = B B w H B wm B B L ' B
5N 4  fir| 15.0 5 2 fz| 21.0 5| 1 fI| 240 = (v = 5 M| 120 & 3 fz| 180 =
®m A 1 2 fiI 7.0 5 3 fiI 6.0 = 1 v 8.0 & 9 fi 0.0 & 5 fiI 40 | 10 1z 0.0 =
®m A 2 8 fiI 1.0 = 6 fiI 3.0 & 4 1 5.0 &= iz =1 7 I 20 &= 11 f1 0.0 =
5 3 fi| 23.0 5 2 fz| 300 = 1 fI] 37.0 & 6 fiI 0.0 | 4 fiz| 180 & 5 fi| 18.0 &
3,876 3,727
w & K £
=2 % F & B 5 F B 2 H B ® B B B/ B B L o B
BESEF 1 {1]66.0 &| 3 fiz]|57.0 | 4 fiz| 260 & 6 fiI| 9.0 = 2 fi| 60.0 = 5 fiz| 25.0 =
BEZF 1 {1]57.0 & 3 ]| 49.0 &| 4 | 440 & 5 fi| 240 = 2 fi|57.0 & 6 fiz| 120 =
YEEF 6 fz| 13.0 & 1 {11320 &| 3 f1]|260 & 5 1| 150 &| 4 2| 17.0 & 2 fif| 320 =
DELZF 3 fiz|23.0 & 2 fz|300 = 1 £1]37.0 & 6 fz| 0.0 &| 4 {1180 H 5 fi| 18.0 =
5 2 {i[159.0 &= 1 £1]168.0 & 5 £1[133.0 & 6 fi| 48.0 = 3 fi[152.0 & 5 fiz| 87.0 =




FABORILMESRBEARATND ) D5tk

[ VEEZZF ) DAF — L\
B SEe 2 F &8 |oies lax _ o _
1G 2G 3G 3G5t 4G 5G 6G 3G5t
Bz == 210 192 145 547 2221 200| 201 623
1 =317 g 5% 2,087 153 151 131 435 146 145 191 482
363 343| 276 o982 368| 345 392 1,105
W3l MUE 126 188 148 462 157 150 180 487
2 aF -2 NI 2P 1,975 184 185 135 504 148 200 174 522
310 373 283 o966 3051 350| 354( 1,009
FHix TR 198 202 195 595 131 149 165 445
3 Wz Big V% 1,911 123 157 160 440 117 151 163 431
321 359 355 1,035 248 300 328 876
BH kDH 124 89 172 385 109 142 187 438
4 5% alll &6 1,877 181 159 168 508 189 192 165 546
305 248 340 893| 298| 334| 352 o84
AN MRE 125 153 167 445 172 147 202 521
5 = oE EB= 1,865 131 145 117 393 167 154 185 506
2561 298| 284 838 339| 301 387 1,027
EE BE 158 178 180 516 144 146 145 435
e 951 @) @]
158 178 180 516 144 146 145 435
[ VESZ ) DAF — L\
B | SEe ' F aitEs lax _ s _
1G 2G 3G 3G5t 4G 5G 6G 3G5t
B8R 189 180 178 547 233 228| 208 669
1 aeF % BX 2,307 182 166 176 524 169| 229 169 567
371 346 354| 1,071 402 457 377 1,236
HEB =R 181 165 162 508 204 225 155 584
2 Wz TR XIE& 2,145 174 138 204 516 181 198 158 537
355 303 366| 1,024 385 423 313| 1,121
EEZE HOV 162 1541 212 528 193 188 162 543
3 = nE KE 2,134 200 180 143 523 166 188 186 540
362 334 355| 1,051 359 376| 348 1,083
e HX 136 158 198 4902| 234 167 168 569
4 == AN 28 2,106 190 154 145 489 147 165 244 556
326 312 343 981 381 332 412 1,125
el I8 172 165 123 460 153 183 233 569
5 FJ4=s KB % 20721 216 157 179 552 142 149 200 491
388 322 302 1,012 295 332 433| 1,060
BB BRES 176 169 177 5221 209 184 180 573
&} B ERK SH& 2,023 140 177 158 475 143 155 155 453
316 346 335 Q97| 3521 339 335 1,026
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IBh| &S & F 3B GEtEm s s
1G 2G 3G | 3Gst| 4G 5G 6G | 3Gs5t
1 &F BR = 1,375 258 188| 215 o©661| 253| 217| 244 714
2 =W REE HDD 1,255 191 191 238| ©620| 228 236| 171| 635
3 Wtz HEB =R 1,248 212 180| 231| 623 192| 221| 212 625
4 Wz T Xxi& 1,163 187 210 151 548| 242 1/3| 200| 615
5 B BB RREB 1,144 156 189| 160| 505 233| 193| 213 639
6 RN AB b5 1,097 172 235 200| o607 165 146| 179 490
7 3 A BB 1,076 164| 149 176 489| 190 203 194| 587
8 = nE & 1,069 194 180| 169| 543 177 180 169 526
9 B tR R B 1,056 220 17r| 174 571 177| 145 163| 485
10 &F —% 8K 1,051 200 163| 189| 5652 143| 177| 179 499
11 =5 % X 1,005 129| 163| 189 481| 175 166 183| 524
12 R W I8 986 190 166| 154 510 124 1o61| 191 476
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Igh| RS & F 3B G5tem i o
1G 2G 3G | 3Gst| 4G 5G 6G | 3Gs5t
1 2 R =X 1,137 199 213 188| 570 172 232| 163| 567
2 E alll B5 1,131 198| 235 183| ©616| 164 196| 155 515
3 &F M 5K 1,088 190| 165 170| 525 204 181| 178| 563
4 =W B xR 1,067 181 179 124 484| 194 154| 235 583
5 B8 AR ME 1,031 191| 168 155 514 1/9| 190| 148 517
6 &F Wl MU=E 991| 143| 186 145| 474 1/3| 151 193 517
7 =5 6% EBE 980| 149 169| 175 493| 148| 170| 169| 487
8 S5 BHE WOH 966| 166| 126 154 4406| 192 146| 172 510
9 R e B 928| 169 182 163| 514 131| 110 173| 414
10 11} i HR 914| 134| 160 136| 430 186 113| 185 484
11 11} Be V% 902 182 130| 135| 447 168| 129| 158 455




FABPRIWHESIRBEARSIND ) U DHRE:

[ mEST ) 4 NF— NESRER
B F—i 2 F 2 |ates Ly i
1G 2G 3G 3G&t
BR BT 169 212 235 616
afF Kz 189 236 222 647
1 57 BE —# 2,437 192 262 172 626
T =4 146 191 211 548
696 901 840 2,437
g 5 2171 210 210 637
FEB =k 180 255 191 626
2 &F INFx ADHB 2,337 183 175 137 495
Nrduw = 168 155 256 579
748 T9O5| TO94 2,337
N IE A 174 178 238 590
I Z— 184 236 192 612
3 Wz B8 2,314 171 150 214 535
= = A 167 198 212 577
696| T2 856 2314
N4 1F 2071 203 213 623
iy E- 170 155 163 488
4 B5 g B2 2,256 219 170 195 584
Pk VA 187 181 193 561
7831 T0O9| To4 2,256
4P P/ 166 180 159 505
£ P 194 189 149 532
5 =311 Il A 2,143 128 148 171 447
INR  Rig 267 178 214 659
7551 695 693 2,143
RF X¥ 174 177 157 508
BE SR 173 195 186 554
(&) ME S BP 2,118 190 164 212 566
BB K= 128 174 188 490
665 T10| 743 2,118




FABPRIWHESIRBEARSIND ) U DHRE:

[ mELT ) 4 NF— NBHIES
B F—n 2 F 2 | aiea as !
1G 2G 3G 3G&t
KOAA KK 1891 209 213 611
FIER X 174 1741 208 556
1 B8 R B 2,272 191 168 170 529
IR =X 168 183 225 576
722 734 816 2,272
B = 226 168 166 560
KA =S 145 182 186 513
2 =y W8 =R 2,153 158 153 152 463
MAE S 1731 233 211 617
702 T36| 715 2,153
R dix 146 179 135 460
HE =2 176 185 235 506
3 57 FO DIy 2,130 174 186 183 543
BB X 155 194 182 531
651 7441 735 2,130
BW E2Bi 223 180 169 572
By Z&E 118 177 130 425
4 ME Rx AF 2,056 155 153 180 488
FE AR 154 186 231 571
650 696 710 2,056
BR BF 181 168 222 571
2B AEF 134 223 162 519
5 &F it 8B 2,044 126 149 169 444
INER BEF 171 172 167 510
612 712 720 2,044
£33 X 161 134 169 464
e =X 148 163 160 471
(&) W 238 HF 1,906 156 205 170 531
0 &5 164 106 170 440
629 o608 669 1,906




FASORIWMSIABARSND ) VI ER

[ REBF ) DAF— LB RAER
B F—n 2 F 2 |oies las _ s _

1G 2G 3G 3Gst 4G 5G 6G 3Gst
L oa4| 103| 235| 672| 144| 1s0| 231 =64
1 BEB KR 2,503 163| 223| 257 643| 224 203 197 624
407| 416 492 1,315 368| 392| 428 1,188
T 82 176 181 245 602 209 205 232 646
2 RBEA Pk A 24421 231 240 203 674 167 179 174 520
407 421 448 1,276 376 384| 406 1,166
aft = 238 160| 201 599 155 165 216 536
3 SHA BE —3 2,388 258 212 237 707 160| 210 176 546
496| 372 438| 1,306 315 375 392 1,082
LBk 518 234 258 204 696| 238| 236 196 670
4 SFA FH =k 2,338 130 164 177 471 169 161 171 501
364| 422 381| 1,167 407| 397 367 1,171
\F& F0EB 186 189 198 573 200| 216 178 594
5 =FB Nrius) = 2,336 210| 213 181 604 155 201 209 565
396 402 379| 11477 355 417| 387 1,159
BR BT 210 163| 233 606 210 183 195 588
6 578 T =i 2,320 185 187 200 5721 201 160 193 554
395 350| 433| 1,178| 411 343 388 1,142
Il EA 167 177 181 5251 214 173 164 551
7 WA INR  FiE 2,308 205 214 218 637 192 235 168 595
372 391 399| 1,162| 406| 408| 332 1,146
I Z— 174 191 226 591 197 178 168 543
8 B 188 R 2,290 167 186 222 5751 212 175 194 581
341 377 448| 1,166| 409| 353| 362 1,124
i} by 191 173 166 530 168 151 204 523
9 =B BI) P 2,216 199 191 213 603| 246 146 168 560
390| 364| 379| 1,133| 414| 297 372 1,083
B[S MR 178 163 166 507 168| 202 189 559
10 BB St B 2,139 179 211 194 584 160 160 169 489
357 374| 360| 1,091 328| 362 358 1,048
KPFI Esh 171 195 139 505 148 144 199 491
11 WEA BB FEn 2072 139 163 193 495 174 193| 214 581
310 358| 332 1,000 322| 337 413 1,072
RF XF 199 164 161 524 135 142 164 441
12 B A BB XK= 1,879 145 184 116 445 144 171 154 469
344 348| 277 969 279 313 318 910
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BERBERIND ) VIG5 R
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[ BEZF ) DAF— N iER

BT F—i ® £ 8 | sies as _ s _

1G 2G 3G 3Gst 4G 5G 6G 3Gs
ER =3 195] 237| 227] es9| 171| 176| 212| 589
1 SFA NER BEF 2423 227 195 170 5921 213 230 170 613
4221 432 397 1,251 384| 406| 382 1,172
FER % 2121 204| 214 630 192 177 174 543
2 BEB KK i 2,331 2151 213 159 587 175 230 166 571
4271 417 373| 1,217 367 407 340 1,114
FO 03y 200 169| 219 588 167 138 156 461
3 5B BB i 2,260 181 197| 254 632 203 173 203 579
381 366 473| 1,220 370| 311 359 1,040
=B 8 163 236 223 622 170 205 183 558
4 BRFA RW  dpix 2254 225 142 160 527 172 207 168 547
388| 378| 383 1,149| 342 412 351 1,105
WeB =8B 154 193 224 571 142 160 174 476
5 =21 B WA #HF 2,166 179 191 247 617 153 176 173 502
333 384| 471 1,188 295 336 347 978
Bl R2# 206 195 171 572 162 225 146 533
6 MEBA FE AR 2,141 165 180 159 504 234 151 147 532
371 3751 330| 1,076 396 376 293 1,065
KOA Kk 1921 213 163 568 167 199 147 513
7 BEA BN mF 2,140 167| 202 170 539 170 182 168 520
359 415| 333 1,107 337 381 315 1,033
&8 % 189 183 212 584 184 183 214 581
8 WEB HwE =X 2,112 115 179 188 482 149 147 169 465
304| 362| 400 1,066| 333 330 383 1,046
B = 178 171 146 495 149 204 146 499
9 =ZiHA KA EiE 2,066| 223 181 146 5501 206 177 139 522
401 352 292| 1,045 355 381 285 1,021
BN =B 169 171 214 554 194 170 147 511
10 BB RF AF 2,039 190 154 145 489 166 179 140 485
359 325| 359 1,043| 360 349| 287 996
28 #¥F 159 195 189 543 143 173 151 467
11 WEA e &85 2,030 156 165 184 505 174 170 171 515
315 360| 373 1,048| 317 343| 322 982
a8 AEF 175 184 157 516 135 152 174 461
12 =FB PH/ih BFFE 2,015 144 171 234 549 146 147 196 489
319 355| 391 1,065 281 299 370 950
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EN=P =V AL (1257

/3
( BRESEF ) BA

ghiz| RER 2 F B GEtER s s
1G 2G 3G | 3Gt | 4G 5G 6G | 3Gat
1 &F (S 1,361 226| 221 218 665 228| 224| 244| 696
2 5% BZE — 1,354 201| 258| 235 694 256| 194| 210| 660
3 5% BR BRT 1,314 203| 187 188| 548 242 245| 279| 766
4 =} MR R 1,297 213| 224 234 671 209| 202| 215| 626
5 W R FG 1,268| 207| 188 224 619 217| 215 217| 649
6 =} I EA 1,232 195 238 182 615 233| 175 209| 617
7 5% o Kz 1,225 210 191 196 597 171| 212| 245| 628
8 &F THB =M 1,187 199| 190 146 535 193] 299| 160| 652
9 Wi TITEE F— 1,163 179| 168 184 531 253| 168| 211| 632
10 &F \Fx FOHB 1,163 193| 161| 178 532 204| 183| 234| 621
11 RN ®E WR 1,135 206| 208 138 552 169| 178| 236| 583
12 Wi 188 1ok 1,129| 167| 224 210 601 183| 168| 177| 528
13 5% TITE S=ic 1,127 180| 1583 200 533 209| 194| 191| 594
14 =5 B e 1,121 180| 157 189 496 216| 240| 169| 625
15 e BV 1,118 184| 181 183 548 156| 201| 213| 570
16 BS KR IE 1,115 168| 182 206| 556 234| 127| 198| 559
17 &F Tp B 1,108| 177| 146 200 523 215| 176 194| 585
18 Wz AFT E3L 1,103 210| 171 171 552 179| 170| 202| 551
19 e R XF 1,091 180| 176 188 544 178| 191| 178| 5b4r
20 BS my E- 1,085 143| 207 77| 527 170| 185 203| 558
21 B8 B 82 1,076 169| 195 135 499 188| 182| 207| 577
22 B8 PE X 1,048| 166| 174 149 489 211| 146| 202| 559
23 =} T = 1,026 138| 196 155 489 140| 165| 232| 537
24 e BB XK= 961| 186 161 131| 478| 146| 189| 148| 483
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( BEFLZF )

gfiz| &S B2 F B GEtER i s
1G 2G 3G | 3Gt | 4G 5G 6G | 3Gat
1 =5 We 8 1,205 221 179 210 610 201| 211| 183| 595
2 &F NER BEF 1,174 172 231 234 637 178 183| 176| 537
3 &F ER BF 1,188 192 204 218 o614 153 214| 177| 544
4 5% Bis ki 1,133 183 206( 147 536 189 183| 225| 597
5 = KIA KK 1,118 183 186 213 552 215 192| 159| 566
6 =5 KA Ei#S 1,117 145 174 203 522 176 238 181| 595
7 = m B 1,116 198 177 178 553 136| 183| 244| 563
8 5% HUW &k 1,108 232 179| 167 578 189 159| 182 530
9 RN TE ARW 1,106| 190| 146( 234 570 166| 216| 154| 536
10 5% mEE B 1,095 149 177| 213 539 146 196| 214| 556
11 Wi g 838 1,075 179 180 148 507 187 215 166| 568
12 &F afF AEF 1,071 180 176 166 522 225 138| 186| 549
13 5% o 03'e 1,067 175 172 189 536 164| 195 172 531
14 = B RF 1,057 166 175 148 489 189 191| 188| 568
15 e BUW &E8# 1,046 186 186 165 537 159 167| 183| 509
16 11} BN % 1,025 173 178 214 565 146 136| 178| 460
17 e R3 AF 1,016| 177 136 162 475 176 178 187| 541
18 =5 EZ N 1,010| 161 179 156 496 165 178 171| 514
19 BS FER ¥ 991| 172| 144( 181 497 162 161| 171| 494
20 11} e =X 969| 143| 156 156 455 154 150| 210| 514
21 = WA #3F o57| 186 140 161| 487 159| 176 135 470
22 e By Z® 940| 167 195 128 490| 154| 144| 152| 450
23 &F ESECIEES 938 107 146 161| 414 167| 165 192| 524
24 Wi £8 &3 875 174 179 148] 501| 142 118| 114| 374




